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Fs BT E PRERE HRER R
1 BRBHEE MPN/100 mL R A &
2 KA RE MPN/100 mL R A &

3 ) CFU/mL <100 b &

4 mgL <0.01 0.0011 &

5 mgL <0.005 <0.00006 &
6 (5 mgL <0.05 <0.004 &
7 B mgL <0.01 <0.00007 &
8 Eid mgL <0.001 <0.00004 &
9 Rz mglL <0.05 <0.002 =X
10 B mgL <10 038 =
11 EE (AN mglL <10 1.40 &
12 Bz mgL <0.06 0.00180 &
13 Bz mgL <0.1 0.00304 &
14 AR mgL <0.06 0.00249 &
15 =RER mgL <0.1 <0.00007 &

L ENhER AN
16 =HRR SRS S H BRI 0.102 ai
EzAT g

17 mgL <0.05 <0.0015 &
18 mgL <0.1 <0.0011 &
19 mgL <0.01 FIER

20 mgL 0.7 FIER

21 %iﬁ mgL 0.7 <0.004 &
22 <%a%s§£;§m <15 <s ai
2| mrmmrss) = o2 kol
24 LIl RLER. B * At
25 FER AT AL pi pi &
26 pH 65-8.5 8.05 &
27 i mgL <02 <0.0012 &
28 % mgL <03 <00.0009 il
29 i mglL <01 <0.00006 at
30 mgL <1.0 <0.00009 &
31 mgL <1.0 0.0045 &
32 mglL <250 47.0 &
33 iy mglL <250 108 &
34 ERILEER mgL <1000 500 =

ERE
3 (Blcacosit) mgL =50 278 &
=

36 . L)\f;f)m mglL <3 1.00 At
37 mglL <05 0.11 &
38 BqL 55 MH0s 0.263+0.062 Hk
39 BqL J65E1.0 0.0540.022 Hk
40 mgL 03 KRED 0.34 X
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Fs Hhr PRERE HRER R
1 MPN/100 mL R R &
2 MPN/100 mL R R &
3 CFU/mL <100 b &
4 mgL <0.01 0.00030 &
5 i mgL <0.005 <0.00006 &
6 (5 mgL <0.05 <0.004 &
7 B mgL <0.01 <0.00007 &
8 Eid mgL <0.001 <0.00004 &
9 Rz mglL <0.05 <0.002 =X
10 B mgL <10 021 =
11 EE (AN mgL <10 151 &
12 mgL <0.06 0.0232 &
13 mgL <0.1 0.00302 &
14 mgL <0.06 0.00924 &
15 mgL <0.1 <0.00007 &
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16 EUHTARESH 0571 B
EBRBIS AL
17 mgL <0.05 <0.0015 &
18 mgL <0.1 <0.0011 &
19 mgL <0.01 FIER
20 mgL 0.7 FIER
21 i mgL 0.7 <0.004 &
S - =1 < kol
23 s Eﬁﬁ) <1 022 ai
24 LIl RLER. B * At
25 FER AT AL pi pi &
26 pH 65-8.5 8.03 &
27 4B mgL <02 0.041 X
28 % mgL <03 <00.0009 il
29 & mgL <01 0.00056 at
30 i mgL <1.0 0.00035 &
31 # mgL <1.0 0.0061 il
32 it mgL <250 650 at
33 TiBAE: mgL <250 125 &
34 ] mglL <1000 490 &
ﬁ@*
3 (PAcacosit) mgL =50 246 &
e

36 'E'ﬁ?‘:ﬁm mglL <3 1.60 At
37 B (L)N1+) mglL <05 0.05 &
38 BqL 55 MH0s 0.056+0.028 Hk
39 BqL J65E1.0 0.1250.033 Hk
40 mgL 03 KRED 0.48 X





image3.png
T LT X 8 B RKOK B R 45 5

Fs BT E Hhr PRERE HRER R
1 BRBHEE MPN/100 mL R A &
2 KA RE MPN/100 mL R A &

3 ) CFU/mL <100 b &

4 mgL <0.01 0.0014 &

5 mgL <0.005 <0.00006 &
6 (5 mgL <0.05 <0.004 &
7 B mgL <0.01 <0.00007 &
8 Eid mgL <0.001 <0.00004 &
9 Rz mglL <0.05 <0.002 =X
10 B mgL <10 027 =
11 EE (AN mgL <10 157 &
12 Bz mglL <0.06 <0.00007 &
13 Bz mglL <0.1 <0.00004 &
14 AR mgL <0.06 <0.00007 &
15 =RER mgL <0.1 <0.00007 &

L ENhER AN
16 ZHFRR SR ES HE SRAH <0.002 ai
EzAT g

17 mgL <0.05 <0.0015 &
18 mgL <0.1 <0.0011 &
19 mgL <0.01 FIER

20 mgL 0.7 0385 &
21 %iﬁ mgL 0.7 0.056 &
22 <%a%s§£;§m <15 <s ai
2| mrmmrss) = ost kol
24 LIl RLER. B * At
25 FER AT AL pi pi &
26 pH 65-8.5 8.09 &
27 4B mgL <02 0.076 X
28 % mgL <03 <00.0009 il
29 i3 mgL <0.1 0.00045 &
30 mgL <1.0 0.00025 &
31 mgL <1.0 0.0064 &
32 mgL <250 60.8 &
33 iy mglL <250 136 &
34 ERILEER mgL <1000 523 =

ERE
3 (Blcacosit) mgL =50 239 &
=

36 . L)\f;f)m mglL <3 219 At
37 (AN mgL <05 0.04 =
38 F BgL IHSE0S 0.20820.052 =
39 BqlL iHFEL0 0.0710.020 at
40 mgL 0.1 W kAE<08 0.14 X
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Fs BT E Hhr PRERE HRER R
1 BEApEE MPN/100 mL Tt YT &
2 KA RE MPN/100 mL R A &
3 il # CFU/mL <100 st &
4 ] mgL <0.01 0.0017 &
5 #® mgL <0.005 <0.00006 &
6 (5 mgL <0.05 <0.004 &
7 B mgL <0.01 <0.00007 &
8 Eid mgL <0.001 <0.00004 &
9 Rz mglL <0.05 <0.002 =X
10 B mgL <10 026 =
11 EE (AN mgL <10 1.05 &
12 AR mgL <0.06 0.0265 &
13 AR mgL <0.1 0.00200 &
14 mgL <0.06 0.0103 &
15 mgL <0.1 <0.00007 &

L ENhER AN
16 SRESHE SRwA 0634 At
EzAT g
17 mgL <0.05 <0.0015 &
18 mgL <0.1 <0.0011 &
19 £y mgL <0.01 FIER
20 Bfith mgL 0.7 A
21 FEE mgL 0.7 <(0.004 Hk
22 “5*5255@ <15 <s ai
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24 LIl RLER. B * At
25 FER AT AL pi pi &
26 pH 65-8.5 827 &
27 4B mgL <02 0.094 X
28 % mgL <03 <00.0009 il
29 i3 mgL <0.1 0.00068 &
30 mgL <1.0 0.00036 &
31 mgL <1.0 0.028 &
32 mglL <250 514 &
33 iy mglL <250 116 &
34 ERILEER mgL <1000 410 =
ERE
3 (Blcacosit) mgL =50 222 &
=

36 (L)\f;f)?y mglL <3 227 At
37 mglL <05 0.13 &
38 BqL 55 MH0s 0.1810.046 Hk
39 BqL J65E1.0 0.1690.029 Hk
40 mgL 03 KRED 0.87 X





